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Aufgaben-Quickname: 6677

Aufgabe 1

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

_ — 2
a) T3-0: T3—70—2564 b)) 3349: 3315402542
- —9
¢) 4645 46550551 d) 468 46—540—238
o) 4447 445501551 £) 34-9: 34—530—2525
+2 +4 +6 +3
g) 4846: 48—550—554 ) 2449 24530533
- - - 1
) 26-8: 26—520—18  j) 23—4: 23—20—19
Aufgabe 2

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

a) 84-+8: 84 90 2,02 b) 3447 34540541
) 4+7 475105501 @) 4547 452502552
¢) 13+9: 13+—7>20—>22 £) 3249: 325401541
g) 654T: 657072 h) 4548 455502553
) 6348 6370571 §) 3348 3340541
Aufgabe 3

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

a) 58—9: B8—-50—-49  b) 41-5: 41—-40—536
¢) 67—0: 67T——60—2558  d) 24—6: 24—20—2518
0) 82T 82—580—575 ) 66-9: 66— —60—=57
g) 62-5: 62—60—>57  h) 35-T: 35—-30—28
) 18-9: 18—510—59 i) 27-9: 2755202518
Aufgabe 4

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

2 1
a) 1848 185202596 b) 2048: 29-530-137
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¢) 4349: 4375502552 d) 48 TA—T0—566

0) 45-8: 45—40—537 ) 25-9: 25—520—16
+1 +6 +2 +3

g) 1947: 19——20——26 h) 18+5: 18——20——23
4 - - 2

) 24T U—120—517 ) TH-T: TH—T0—68

Viel Erfolg!
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